
[image: image5.png]



In this wild game. Black has captured a 


pawn on d5 and if he can get Bh1 and 


then Qg2 he will have mate.  However


white  has the move and he has a 


mating net of his own. White to play


and checkmate in 3 moves……..





1. Rc8+ Ke7 2. Qc7+ Qd7 3. Bd5# 


played by Alan McConnell





Black to play could have a long


haul to convert his advantage, but


he is alert to the possibilities on


the board  and uses his pieces to 


best effect to end the contest two


moves later. How?


1…. Rg6+ 2.  Kh3 Qc8#_ or 2. Kf2 Qg1#


Played by Jim Johnston 
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White looks to have a lead in development


and the advantage in space. Black to play


spots a major flaw in white’s nice looking


set up and pounces. Find a sequence of


moves to net black some material….


_ 1… Re8  2. Q any (e.g Qf4) Rxe3! 


& if 3. Qxe3 Bd4 pins Queen onto 


the King


Played by Andy Howie





Black has just captured a pawn on a2 


and is starting to look menacing on 


the 2nd. White to play recalls a very 


visual tactical pattern and to his delight


it forces black to resign next move.


what does white play and why does 


black resign?





Rc1! and the black rook on c2 is 


Cross-pinned;


A)  1… Rxd2 2. Rxc8+ Bf8 3. Rxf8+ Kg7


4. Qxf2                OR 


B) 1…. Rxc1 2) Rxa2 winning Q for R


Played by Paul Denham











[image: image1][image: image2.png]


[image: image3.png]


[image: image4.png]


